DU MPhil PhD in Punjabi
Topic:- DU_J19_MPHIL_PUN

1) I3 foftmr feg faos 12 "It 59t T -
[Question ID = 13484]

p, Wit & - 333 HIgATR™E [Option ID = 23933]
, IHt I - 37 niufeaz=e
3 Bt HITH - AIY0R™ [Option ID = 23934]
; 29t TIBeS - SRHTIIRTE

[Option ID = 23935]

[Option ID = 23936]

Correct Answer :-

- L ' ﬁ
. ?D'ﬁ' - %33 - [Option ID = 23935]

D I fefmit fes faos 7 AAt &t 3 2
[Question ID = 13450]

g AR BITE - IS AT T [Option ID = 23797]
) FY WET® Ifed Aioal - 7Y FaEels

3. fom HE TS BT - FTET B91E [Option ID = 2
., 38 7Y - femfes B |

[Option ID = 23800]
3798]

Option ID = 23799]

Correct Answer :-

FY WET® Ted Ale6 - By AdSels

i - [Option ID = 23800]

) Iz ot get = fiee 99 -
Ao -1 HeT-1I
a) fAoAE=HT 52 fogera 1. 3 friur A
b) 3 TH M3 HIT nigs< 2. HGHIZU™S g
c) fAoHT 2 FeH 3. AoAI3 fAwr Rat
d) VAt afe-are T »iftoils 4. IBIH AIST

Budaz feg fags o AIT T -

[Question ID = 13477]

1. A->1,B->3,C->2,D->4 [Option ID = 23906]
2. A->2,B->1,C->4,D->3 [Option ID = 23905]
3. A->3,B->2,C->4,D->1 [Option ID = 23908]
4. A->3,B->1,C->4,D->2 [Option ID = 23907]
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Correct Answer :-
* A->3,B->1,C->4,D->2 [Option ID = 23907]

Y 3 fedt et = B -
Rel-1 Aot-1I
a) UAEMS 1. ITeT To fRw
b) yfeast 2. 4. yIs frw
¢) TIRfGIIT 3. 4. Has frwr
d) Yansa=T 4. AR fAwr 3T

Qudas feg fauz g AIT T -

[Question ID = 13490]

1. A->1,B->3,C->2,D->4 [Option ID = 23957]
2. A->2,B->1,C->4,D->3 [Option ID = 23958]
3. A->4,B->1,C->2,D->3 [Option ID = 23959]
4. A->3,B->2,C->4,D->1 [Option ID = 23960]

Correct Answer :-
*« A->2,B->1,->4,D->3 [Option ID = 23958]

5)

FE5 (A) : foF gre-go9 T fHae gos HAe feg wifenr 3, 7 fersHt ARfgEt
feg ferm g Ju=r I

FES (R) : o9t T Uast few oo fom SR o ufost == vast farr-afe feo
TIRT T HAG=T BRET T fouzet Jar fuser 3

Sugaz T fagz RO T ;-

[Question ID = 13458]
(&) »2 (R) TF 3 T3
2. (A) 7H3\ (R) E%- g gl [Option ID = 23829]

. (A) 31 T (R) nifrx 3t T
, (A) 3 T (R) &3 T

[Option ID = 23830]

[Option ID = 23831]
[Option ID = 23832]

Correct Answer :-

. (A) 3 (R) TF 31X T3

[Option ID = 23830]

6) Iz fefum feg fagz afe-a2x T35 ;-

i) ggst &t 7=t ii) 9 U
iii) ¥9 €9 iv) ST WIT
AIt AeY T -
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[Question ID = 13478]
. (iii) M= (iv) :
2, (11) 7)1? (111) [Option ID = 23912]

3 (1) w3 (lll\l [Option ID = 23909]

, (i) 72 (iv)

Option ID = 23911]

[Option ID = 23910]

Correct Answer :-

. (11) ”@ (HI) [Option ID = 23912]
) fonrg 3 AUz ofe gut v fager @2 AT T -
[Question ID = 13455]

1.
2, 2 " Eﬁ’ = [Option ID = 23819]

3. AGEt, Infar, W, W [Option ID = 23818]
4. wSt, 7O, v, fRsE] [Option ID = 23817]

[Option ID = 23820]

Correct Answer :-

. WS, A, Infgr, fRGS [Option ID = 23817]

8) vt s e RO O ;-

[Question ID = 15230]

g > as—n:IEI TS UISTT 55 [Option ID = 30918]
2. feg Eil'ﬁ-“; Bt g UfgeTs 5% [Option ID = 30919]

5 EIRS1G TH ||3§ SR [Option ID = 30920]
4. I:“ I |I3§ J oTH [Option ID = 30917]

Correct Answer :-

FI-FuT I ufgeT &5

[Option ID = 30918]

-

? I fit wet = fims ag -

Aol-1 Aot-1I

a) THTT 1. Vigew ARG TS
b) TIH 2. HII® T8

¢) THH 3. fugs o a5
d) sar=s TR 4, TRY 9 T

Sudaz o5 fagz v AIT T -
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[Question ID = 13460]

1. A->1,B->2,C->3,D->4 [Option ID = 23837
2. A->2,B->1,C->3,D->4 [Option ID = 23838
3. A->2,B->3,C->4,D->1 [Option ID = 23839

]
]
]
4, A->3,B->4,C->1,D->2 [Option ID = 23840]

Correct Answer :-
» A->2,B->3,C->4,D->1 [Option ID = 23839]

10) Iz fofunr fes ‘SRS URSE T 3937 A O -
[Question ID = 13469]
YHIAIS 995
1. [Option ID = 23875]
) s it
, di9ada [Option ID = 23874]
sfgeg frwr sug

4, i *  [Option ID = 23873]

[Option ID = 23876]

3

Correct Answer :-

NHIAIS 9€6
. [Option ID = 23875]
11) - . . - <

) 5 fefiort geset few faost a1g oo 9% A 99T I -
[Question ID = 13445]
MRCIGER U CL
2. vt e T9 [Option ID = 23779]
L
, Tro diAfe |

[Option ID = 23778]

[Option ID = 23777]
Option ID = 23780]

Correct Answer :-

g Fnfz

[Option ID = 23780]

12)
fiy oon fee ‘©r=T’ & Ha3T © g9E9 fere feu far foon § Jfemr 7 Faer 3 2

[Question ID = 13449]

1. 9™ [Option ID = 23794]

2 [Option ID = 23796]
3. [Option ID = 23793]
4. [Option ID = 23795]

Correct Answer :-

. [Option ID = 23796]
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1) ‘rg €3 AZ 7 Qufs FY wieT et fam ag St 95 7

[Question ID = 13447]

Irg Iifge
] PR < [Option ID = 23788]
¢ HJE'- @%- [Option ID = 23785]
T TR o
il [Option ID = 23787]
4, 9 MdIE €€ [Option ID = 23786]

Correct Answer :-

9 35T °F
« —= [Option ID = 23787]

19 st T U & for se-udRiT 3 FEOE Y -

[Question ID = 13480]

1. [Option ID = 23918]

IH B
2. [Option ID = 23919]

3. [Option ID = 23920]

4, HOR [Option ID = 23917]

Correct Answer :-

. [Option ID = 23918]

15) FoHf3 fea® ‘nrears’ ® Guc AE few faos frRu=z 3 2
[Question ID = 13451]

1_nn-|33*e*ﬁ=|1:|1'3

84 BH AT
2. = [Option ID = 23803]

Usd Ao6H

fommH=

4, [Option ID = 23802]

[Option ID = 23804]

3 . [Option ID = 23801]

Correct Answer :-

fomm=

. [Option ID = 23802]

16)

FES (A) : T2 T YTIAG MRS feg mHlE 839 o Jor 3, ¥ seaag, fogema 3
HY 733 IOT © Rigwd = fauHT Jer J|

aoa (R) : for Aele fE39 feg oo =F g7 Het 733, B3ga9r 87 2 wifsazs =
nifgs 7T I3

SuFaz F faoe B T -
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[Question ID = 13476]

, (A) 3 (R) TF AIT T [Option ID = 23904]
, (A) 3t 3 (R_) EIB? 3 [Option ID = 23902]
3. (A) "2 (R) T° A AIT T [Option ID = 23903]

, (A) n3 (R) TF IB3 TS

[Option ID = 23901]

Correct Answer :-

. (A) 2 (R) TF AIT TS [option 1d = 23904]

1) 35 fofimi °F faost 9o AEgaH 9 -
[Question ID = 13466]

R Cadiii [Option ID = 23864]
,, JaT T ararg [Option ID = 23862]

BlLB’EEﬁ'UH':ﬁ
. HT 997 & Jar

[Option ID = 23863]
[Option ID = 23861]

Correct Answer :-

me‘fm-ﬁ[

. Option ID = 23863]

18) I fafumt feg ‘fegrm niE T93HS URSE ¥ &93" faosT J -
[Question ID = 13485]

1. gﬁg 'FFI'LI.I' |EIE5 [Option ID = 23938]

5 HS R P [Option ID = 23937]

, Jfeeg frw 3=t
. foms

[Option ID = 23940]

[Option ID = 23939]

Correct Answer :-

[Option ID = 23940]

®) I fofmit fed forom de A T -

a) TIGT BT 3T 1. gfeT I=t
b) IET U 2. Iz &9
c) THI N3 3. For TgHT
d) nwgeTHT 4. gfgsws AW

Gudaz fev fagg gH AIT T -

[Question ID = 13472]

1. A->2,B->1,C->4,D->3 [Option ID = 23885]
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2. A->2,B->1,C->4,D->3 [Option ID = 23888]
3. A->3,B->4,C->2,D->1 [Option ID = 23886]
4, A->3,B->4,C->1,D->2 [Option ID = 23887]

Correct Answer :-
» A->3,B->4,C->2,D->1 [Option ID = 23886]

9 ooz vt FeHs HZ T9ST YRS I5 -

i) ¥5T 5T H ii) 5% @ar € Tf9R/
iii) IBIT foazg T wo iv) Us 3 U9

Sudaz 'S AIT IS -
[Question ID = 13468]

1, ii) 13 (iv) [Option ID = 23872]
, ()3 Gi) |

i) M3 Gv)
3 [Option ID = 23870]

4' i) M3 (iii)

Option ID = 23869]

[Option ID = 23871]

Correct Answer :-

() ™3 (i)
. [Option ID = 23871]

) I5 fofimrt feg fagsT Hoe-fefomrat 3 --

[Question ID = 13470]

1. " [Option ID = 23879]
ﬁ - ﬁ e L a ﬁ- |
2. [Option ID = 23880]

B'ﬁ%”rm

L [Option ID = 23877]
4, [Option ID = 23878]
Correct Answer :-

EEA :
. 1 [Option ID = 23877]

22) ‘yz feger ITET T A AT T ?
[Question ID = 13473]

, H3B S8 (o - 28001

, TBe3 fAw eI [Option ID = 23889]
3, A TR A (o o - 23801]
ST BIT

4. [Option ID = 23892]

1
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Correct Answer :-

H3 frwr A [Option ID = 23891]

2 Iz fodt vt = fiws =9
Hel-1
a) I5T T s
b) FFES T e
c) TR & arfas
d) =t 2 ufoss T8 Jfae

Sudaz fes faog o ROt T -

[Question ID = 13453]

1. A->1,B->3,C->4,D->2 [Option ID = 23809]
2. A->2,B->3,C->1,D->4 [Option ID = 23810]
3. A->4,B->1,C->2,D->3 [Option ID = 23811]
4. A->3,B->2,C->3,D->1 [Option ID = 23812]
Correct Answer :-

+ A->2,B->3,C->1,D->4 [Option ID = 23810]

24) =fmpz 5357 T A0Sl RO O I=T 9 -
[Question ID = 13467]
us fRwr fes
5 [Option ID = 23868]
5. TUHSG HCAT (06i0n 1D = 23867

g

" [Option ID = 23866]

1{' [Option ID = 23865]

Correct Answer :-

s R o

. [Option ID = 23868]

25) I fefumi feg faodin IRHT ASH 578 HEOS I35 °?

i) 33 ST
iii) HIHT Aot
AT €39 T
[Question ID = 13454]
, (i) v (i)
, (iii) 73 (i)
, ()93 (v)

[Option ID = 23816]

[Option ID = 23814]

[Option ID = 23813]

ii) niy Aot
iv) H3& ARSI

-
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, (1) = (iii)

[Option ID = 23815]

Correct Answer :-

, (i) 212 (i) [Option ID = 23816]

TEG (A) | AEMH3, »iRs few, fea 3fsa v T
95 (R) : ‘THe® Hiowe fev 3HTe § ‘wuew faor famr 3 2 fem oot Atz fom
a3 ugH FUET J1

Susaz T fagz AIT T -

[Question ID = 13448]

(AT T3 R) TBT I
. (A) nZ (R) TF 3IX TS|
£ (A) VH@ (R) @%’ qits3 Jol [Option ID = 23791]
. (A) »2 R) »ifAx 37 T3

[Option ID = 23790]

[Option ID = 23789]

[Option ID = 23792]

Correct Answer :-

. (@A) 3 (R) ¥F 3 T3 | [Option ID = 23789]

27) ‘R = HEO T -

i) UH nirfers i) H3IIT
iii) TIHT HRG=T iv) St9 9H

SuSaz T "It A I
[Question ID = 15229]
(i) 77 (i)
(i) »=3 (1v)
2 () w2 (iii)
() i (i)

[Option ID = 30914]

[Option ID = 30916]
[Option ID = 30915]
4 [Option ID = 30913]

Correct Answer :-

. (i) »2 (i) [Option ID = 30915]
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Iz fEst met = fios a9 -

A) sTET TG TR 59T 1. ITYSY HIA &

B) 3. T Hur g=t 2. JATHET TISTT HI'S O
C) 335 fRwr Hait 3. 37 JF ferme aF

D) HUa=T A3y fur 4. Y TEF HIE TI5TI

Sudaz feg faoz v AT T :

[Question ID = 13443]

1. A->1,B->3,C->4,D->2 [Option ID = 23769]
2. A->2,B->4,C->3,D->1 [Option ID = 23771]
3. A->2,B->1,C->3,D->4 [Option ID = 23770]
4. A->4,B->3,C->2,D->1 [Option ID = 23772]

Correct Answer :-
+ A->2,B->4,C->3,D->1 [Option ID = 23771]

29)

FEG (A) © UT'SS AoH At €7 YUFG 39 56d B A § Uofex sfea & fifeora
feniast =7 UF o9 © &% 5% 8957 3 UTHHT © JU X g3 JI

g3 (R) : fegt fod I sox v Aoz Ay Quz & »rT 3, €0 fan fefzom=
UIR T 547 |

Susaz v faoz At T -
[Question ID = 13464]
1. (A) U] (R) TF 83 I6 [Option ID = 23856]
& (A) - ﬂﬁ a (R) ‘Hﬁ a’ [Option ID = 23853]

3 (A) hé (R) é-% H?'ﬁ ﬁ' [Option ID = 23854]
, (A m’r%(R)m%r[

Option ID = 23855]

Correct Answer :-

. (A)»2 R) T RIT T [Option ID = 23854]

30) 37wz fw far &t 7 77T 95 ;-

[Question ID = 13474]
& & : [Option ID = 23893]
2 =ts | 59 l [Option ID = 23896]

3. [Option ID = 23895]

4. g [Option ID = 23894]

Correct Answer :-

-

. e [Option ID = 23894]
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31) YGareret FEM T /T T99T T 2
[Question ID = 15228]

| FRE ffw nrogeraor, wanels 9o, ST ORt | oL
mmm 35 fAw, fee v

[Option ID = 30911]
En%?q' I, MATTET IS, A.H. HiET

[Option ID = 30912]

mm»mw gfeeg I, MiFfEs THS

[Option ID = 30910]

Correct Answer :-

. il]lgla ﬁ:m'r 1 :!-!E ”| m, 3'553 aﬁ’ 3 ! [Option ID = 30910]

Hol-1 Aet-1I

(a) B AT 1. gifse fAw &g
(b) 3 fa fermy 2. fimmg fRw ueH
(¢) Vi8E H'T Tt At 3. Aios= Hioa
(d) Ust 5t 4. gzt fRwr
Sugaz fes faoz W AIT T -

[Question ID = 13465]

1. A->1,B->3,C->2,D->4 [Option ID = 23859]
2. A->2,B->4,C->1,D->3 [Option ID = 23860]
3. A->2,B->1,C->3,D->4 [Option ID = 23857]
4. A->3,B->4,C->2,D->1 [Option ID = 23858]

Correct Answer :-
+ A->2,B->4,C->1,D->3 [Option ID = 23860]

3B) . How fiw et afesT 3 -

i) wiAfII=T =t ii) IHfex
iii) YIrEre=t iv) gSToeTel
Budaz fes fagsT 3 RIT 9 -
[Question ID = 15231]
( 1) vi2 (i)

[Option ID = 30921]

, (@ w2 (1v)
(11) v (iii)

,. (i) m= (iv)

[Option ID = 30923]

[Option ID = 30924]
[Option ID = 30922]

Correct Answer :-
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, (i) »3 (iid) [Option ID = 30924]

) st g few S9R fons St fasst T -

[Question ID = 13482]

1. 15 [Option ID = 23927]
2. 12 [Option ID = 23926]
3. 10 [Option ID = 23925]
4. 4 [Option ID = 23928]

Correct Answer :-
« 15 [Option ID = 23927]

®) 35 fogt met = fies o -

Ael-1 Aot-1I

a) ITHT fefammsa 87 1. AT fAw arg
b) BFUTT T UH 2. 4. yIzH fRw
¢) Hoarar a3z & 3. UH yore frRwr
d) nrofex Afas ¥F 4. 3g9 fRwr

Susas fes fagzr v AOT T -

[Question ID = 13488]

1. A->1,B->2,C->4,D->3 [Option ID = 23950]
2. A->2,B->3,C->4,D->1 [Option ID = 23951]
3. A->3,B->4,C->2,D->1 [Option ID = 23952]
4. A->3,B->1,C->4,D->2 [Option ID = 23949]

Correct Answer :-
« A->3,B->4,C->2,D->1 [Option ID = 23952]

*®) ggsew fig 9fes oo & Rdt d2 T -
[Question ID = 13479]

| T H3, 95 FHiEQa, 3G IBA HE IR

[Option ID = 23916]

mmm B7o, W 3t fex At I o om0 = 23013
fEE'J-E"']' AI3TE, AORS, 5167 HOEIG [Option ID = 23915]

meﬂww uger, uIH fuaR

[Option ID = 23914]

Correct Answer :-

. - a?? [Option ID = 23916]

37) I ot feg faos™ 85 RIT T ;-

[Question ID = 13475]
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1. J [Option ID = 23900]
, eI 9T T & Hod § Hod STe el I
3_wﬁmﬁwmfﬂﬁuﬁr@_'ﬁal

- [Option ID = 23898]

[Option ID = 23899]

ITHT HoH & Hod STget 91
4, e [Option ID = 23897]

Correct Answer :-

ITH HoH & Hod S8t 91
. - [Option ID = 23897]

) I fofmrt feg’ fags fam REwgx nirarg €3 fafanr famr 3 2
[Question ID = 13463]

UJG EdE3-dedd’q ,
[Option ID = 23852]

2. ART-JHH [Option ID = 23850]
fHaa Frfog™-uts

3. = [Option ID = 23851]
4. JI9-TIR [Option ID = 23849]

Correct Answer :-

UJgs SdE-ad'edd'y ,
o [Option ID = 23852]

39) frg fegguar &% HEUI @ga ¥ AIT A J -
[Question ID = 13486]

| &FH TRS m,ﬁﬁ?ﬁﬁu@,ﬂ.w.ﬁﬁ?i
2. 1{’-[ :[ ' . s [Option ID = 23943]

. 3 frfw A, forae fifw, IRI98 PR (o0 1o - 23001
, If¥eT e, 3mes fifu fifs, Stom. fede

Option ID = 23942]

[Option ID = 23944]

Correct Answer :-

. gfeeg ot, 3wes fRu fais, tnims. feae [Option ID = 23944]

40) FES (A) : FIHS AU HIar T HaST, Aies Ha=T T
95 (R) : HIS T Hod ‘FiTs HAZ UT § YUz Jer J

Qudaz T fagzT RIT T -
[Question ID = 13444]
, (A) FA 2 (R) 983 3
, (A) »iZ (R) ¥ AJt 5
3 (A) YH? (R) E“% X N [Option ID = 23774]

, (A) »ifEx At »3 (R) Y35 AT 9

[Option ID = 23776]

[Option ID = 23775]

[Option ID = 23773]
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Correct Answer :-

. (A) At i3 (R) 7053 3 [Option ID = 23776]

41)

FTES (A) : UAET mees © feutes wigg A3 fRwr A St Aeifemr- umRsw
‘Arfafamiag’ 3 Hfonr 77 Aa=T JI

95 (R) : YIT Y wiwee far fedtes udugr &F Gun Iz =F v feafess mitfana
T feafsza €0 33 AWz 3

Susaz T fagz AIT T -

[Question ID = 13489]

A) IBITIR) AIT I
1. : [Option ID = 23955]
, (A) w2 (R) TF T5%3 T5|
, @A i (R) T HJIT 75 |

, (A) It T R) a53 T

[Option ID = 23956]

[Option ID = 23954]
[Option ID = 23953]

Correct Answer :-

" (A 1’.\'@' (R) E-% ‘H?ﬂ. ?EI [Option ID = 23954]

42)
‘T3t gt 52T =79, U U nEet U J6 feftmft fee fam g Aoy = -3
T -

[Question ID = 13442]

, Y MIFs T H
2. H'Tq aﬁ? ﬁm Fﬁ [Option ID = 23765]

. gd3 3' FTH H} [Option ID = 23768]
4, EE 5 BT At [Option ID = 23766]

[Option ID = 23767]

Correct Answer :-

3]1: STOR TF Fﬂ' [Option ID = 23766]

43) YR3 M3 BYS € AIT A< T -
[Question ID = 13487]

, foms frwr - Aoz @ AR
Z_Wﬁu:m
B'J%mfﬂﬁuzﬂzm
, F3 fifw A’ : femdtae

Option ID = 23945]

[Option ID = 23947]

[Option ID = 23948]

[Option ID = 23946]
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Correct Answer :-

. ' AC fH.UJ : @. ‘Hﬂ [Option ID = 23945]

44
%(A):mwﬁgﬁa—ﬂ%ﬁﬁﬁaﬁmﬁiﬁaW%%m?m
Fo3 AHfax foz ger 31 fer mifoe f82 § &3 Ho faor 77 31 &% Ho Ree-Ad2
A2 T 7 wrfe Fgarfe 3 I 39 I9 WG €8 USTTHHS IS8T »i 3at J|

95 (R) : BAHG T Nigg IT BA-FRIGST €9 5I3 91 B i3 USUT T U 55
Hoe I51 87 593 »mug A9 YU 3 uRTS few Saaar T

Susaz T fagzT AIT T -

[Question ID = 13452]

 (A) ni3 (R) ©F 9% TS|
2. (A) HU-T ﬁ' b@ (R) a3 3| [Option ID = 23806]
, (A) It ni2 (R) miifAa AIT T
, (A) »2 (R) =¥ ®IT T3

[Option ID = 23805]

[Option ID = 23808]

[Option ID = 23807]

Correct Answer :-

. (A) 3 (R) E-%- Hﬁ J51 [Option ID = 23807]

B) fogwm-fegstat 3 2

[Question ID = 13457]

, BI-59

g, BA-US [Option ID = 23825]
3. S ErIIES [Option ID = 23828]

, BB

[Option ID = 23826]

[Option ID = 23827]
Correct Answer :-

. BA-UF [Option ID = 23825]

) Frg 3= Frfow =t Tt {8 wiar feg wifaz T -

[Question ID = 13446]

1. 1390 [Option ID = 23783]
2. 1410 [Option ID = 23782]
3. 1430 [Option ID = 23784]
4. 2100 [Option ID = 23781]

Correct Answer :-
+ 1430 [Option ID = 23784]
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) Iz et et = fiums &9 -

Fot-1 Aer-11

a) HB<ST 1. g&, =<, 3T

b) vt 2. 53, ¥, IRs

c) Hst 3. 32, u, U

d) wrat 4. VIga, 9T, ATSET

Gudaz fev fagg gH AIT T -

[Question ID = 13483]

1. A->4,B->3,C->1,D->2 [Option ID = 23930]
2. A->4,B->2,C->3,D->1 [Option ID = 23932]
3. A->3,B->2,C->1,D->4 [Option ID = 23931]
4. A->3,B->1,C->4,D->2 [Option ID = 23929]

Correct Answer :-
e A->4B->3,C->1,D->2 [Option ID = 23930]

1B) Iz fofun e faot IR S IB 59t o -
[Question ID = 13456]

, BI5GB
| 3= I
3. - YY) [Option ID = 23824]

4, FSTIT IS [Option ID = 23821]

[Option ID = 23822]

[Option ID = 23823]

Correct Answer :-

S I'H .
& [Option ID = 23823]

49) “UrgamHt U3 T &y faasT 3 2
[Question ID = 13471]

1 [Option ID = 23882]

5, [Option ID = 23883]
;. 87. IfgeAs AW [Option ID = 23881]

, o5t feg’ 3=t aat

[Option ID = 23884]

Correct Answer :-

. 8. Ofgzws fRw [Option ID = 23881]
) fotrr aEtort = fagsT oW AT 3 2

[Question ID = 13462]

y = 2 ’ s Lﬁ'ﬂi, [Option ID = 23848]
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2 - = [Option ID = 23846]

, T9F WY, THEY, B, TN, Tfew soyeeT

4. ? -’ , = . "9, : [Option ID = 23845]

[Option ID = 23847]

Correct Answer :-

. : ? U:hi)', ) = ’ Ml ) [Option ID = 23845]
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